MPM2D Linear Systems: Possible Solution Results
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* slopes are different (m,=—1 and m,=2)
* y-intercepts are different (4 and 0) * slopes are different (m,=—1 and m,=2)
* one solution  y-intercepts are the same ( Vi, =4 )
e one solution

For one solution, only the slopes must be different. The y-intercept does not matter.
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y=2x+4 y=2x

4x—-4y=12 y=x-3
_ * slopes are equal (m=2)
) slgp cs are equal (m=1) * y-intercepts are different (4 and 0)
* y-intercepts are equal ( —3) « 10 solution

* infinite solutions (all points)

For no solution, the lines are parallel.

For infinite solutions, the lines are identical. The slopes are the same and the y-intercepts are
The slopes and the y-intercepts are the same. different
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